
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Esponenti di 10

4, 92 × 10 =5 8, 96 ÷ 10 =3

7 × 10 =0 6, 93 ÷ 10 =0

10 =6 1 × 10 =0

7 × 10 =5 −1 × 10 =2

10 =3 1 × 10 =

8 × 10 =2 10 =3

10 =2 6, 23 ÷ 10 =2

4, 81 ÷ 10 =0 10 =4

7, 24 ÷ 10 =2 10 =5

10 =3 10 =6
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Esponenti di 10

4, 92 × 10 = 4920005 8, 96 ÷ 10 = 0.008963

7 × 10 = 70 6, 93 ÷ 10 = 6.930

10 = 10000006 1 × 10 = 10

7 × 10 = 7000005 −1 × 10 = −1002

10 = 10003 1 × 10 = 10

8 × 10 = 8002 10 = 10003

10 = 1002 6, 23 ÷ 10 = 0.06232

4, 81 ÷ 10 = 4.810 10 = 100004

7, 24 ÷ 10 = 0.07242 10 = 1000005

10 = 10003 10 = 10000006

www.snowmath.com

https://www.snowmath.com

